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U.G./P.G. ENTRANCE EXAMINATION, APRIL 2021
P.G. ENTRANCE EXAMINATION
MASTER OF SOCIAL WORK

Time : Two Hours Maximum : 100 Marks
1. 5 lakhs babies ————— born in this hospital every year.
A) is. B) are.
C) would. D) were.

2. A rabbit looks very much iike a

A)  hair. . B) hare.
C) heir. D) hear.
3. Mathematic is the —————— subject for me.
A) Most difficult. B)' More difficult.
C) Difficult. D) Easier.
4. Recluse:

A) Air, manner, appearance.
B) Dreadful, causing fear or suffering.
C) A berson who leads a life shut up or withdrawn from other.

D) To end resistance.

5. The match ——————, due to the weather last Sunday.
A) Are being not played. B) Were not played.
C) Are not played. D) Was not played.
6. Lake Tahoe, along the California Nevada boarder, is ————— for its natural beauty, casinos,
and skiing.
A) known. B) know.
C) knowed. D) knewed.

7. How long ... you brother....... ? he looks exhausted!!
A) have.......... been working. B) has .......... been working.

C) has......... worked. D) have.......... worked..
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The submarine helps us study life in the ocean giving us different views. What does the prefix

sub- mean ?

A) Under. B) Look.
C) Bottom. D) Above.
Where ————— you meeting your client at 10 o’clock yesterday ?
A) were. B) was.
C) is. ] D) are.

Peter couldn’t take a photo of the sunset because :

A) She hadn’t booked ahead. B) He had forgotten to charge the battery.
C) She had already seen the movie. D) He had grown a beard.

My scores in high school —————— until I made an effort to study more.

A) Couldn’t be improved.

C) Haven't been improving. ‘D) Wouldn’t have improved.

Ann is a vegetarian, so she never ————— meat.
A) eats. B) eat.
C) iseaten. D) eating.

Adjective Comparative Superlative funny, ,

A) Funnier, funnier. B) Funny, funnier.
C) Funnier, funniest. D) Funniest, funnier.
What ———— (you / do) when I —————— (call) you last night ?
A) Did you do, I galled. B) Was you doing/I was calling.
C) Were you doing/called. D) You do/T called.
This is the ————— book I have ever read :
A) Interesting. B) More interesting.
C) More interesting. D) Mostinterested.

India has dozens of half-completed water projects, not to mention a

infrastructure of forgotten local water supply systems.
A) Vast. B) Stable.
C) Perishable. D) Predominant.

B) Hadn’t been improving.
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We saw a homeless guy ————— around at our school gate.
A) Collect. B) Wander.
C) Bully. D) Fascinate.
The ————— ingredients used in making beer are malted grains, water, hops, and yeast.
A) Principal. B) Principle.
C) Principles. D) Principaled.
Meera won't tell us the answers, ———— ?
A) Will she. B) She will.
C) Didn’t she. D) Does she.
I ————— my best friend for 3 years and we still best friends.
A) Knew. B) Am knowing.
C) Know. D) Have known.

One must keep one’s valuables carefully. What is the passive voice of this sentence ?
A) One’s valuables carefully are kept.
B) One’s valuables carefully must be kept.
C) Ones valuables must be kept.

D) Ones valuables must kept.

The bear is an aggressive animal, but in fact it is not ——————— people suggest.
A) More vicious. B) So vicious that.
C) Asvicious as. D) Asviciously as.
You must try to live ———— your income.
A) Within. B) During.
C) In. D) About.
It —————loudly so I chased it away.
A) Were barking. B) Was barking.
C) Is barking. D) Will be barking.

Turn over
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Pick out the suitable sentence with same meaning for the following : (Q25-30)

25. T'll give you my phone number. I want you to phone me when necessary :

26.

217.

28.

29.

A)
B)
C)
D)

I'll give you my phone number so that to phone me when necessary.
I'll give you my phone number so that you can phone me when necessary
I'll give you my phone number so to phone me when necessary.

B & C are correct

What's your name ?" the policeman said to the little boy :

A)
B)
&)
D)

The policeman asked the little boy whether his name was.
The policeman asked the little boy what your name was.
The policeman asked the little boy what was his name.

The policeman asked the little boy what his name was.

My father advised me to choose that job :

A)
B)
C)
D)

I chose that job because of my father advised me.
I chose that job because of my father’s advice
Because of advising me, my father chose that job.

B & C are correct.

That boy is clever. He can make children's toys :

A)
B)
C)
D)

That boy is so clever that he can make children's toys.
That is a so clever boy that he can make children's toys.
That is such a clever boy that he can make children's toys.

A & C are correct

There will be a shortage of water unless it rains :

A)
B)
C)
D)

If it doesn’t rain, there will be a shortage of water.
There will be a shortage of water if it rains.
There will be a shortage of water if it will rain.

If it doesn't rain, there would be a shortage of water.
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People said that he was in London last summer :
A) Heis said that he was in London last summer.
B) He was said that he was in London last summer.
C) He was said to be in London last summer
D) He was said being in London last summer.
World Mental Health day is observed on :
A) 10th December. B) 1st December.

C) 22nd April. D) 10th October.

C 2808

Rajya Sabha is a permanent House and is not subject to dissolution. What fraction of Rajya Sabha

members retire after every two years ?
A) 2/8. B) 1/8.
C) 1/2. D) 1/6.

The Varishta Pension Bima Yojana (VPBY) is a scheme for the benefit of :
A) Women. B) Children.'

C) Youth. D) Senior citizens.

Which organisation along with ILO released the report ‘Tackling the Covid-19 youth employment

crisis in Asia and the Pacific’ ?
A) Asian Development Bank. B) World Bank.
C) UNESCO. D) World Economic Forum.
What is the new name of the Ministry of Human Resources and Development ?
A) Ministry of Education.
B) Ministry of Human Resources.
C) Ministry of Education Development.
D) Ministry of Tutoring and Teaching.
ArtnNITI is the news letter published by :
A) CSWB. B) NITI AYOGH.
C) POSHAN ABHIYAN. D) OXFAM.
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What is the name of the training modules launched for primary cooperative societies, by National

Cooperative Development Corporation?
A) NCDC Sahakar. B) Coop Educate.
C) PACS Skillcare. D) Sahakar Pragya.

The programme that trained group of Health Care Workers and volunteers for intensifying the
fight against the Covid-19 in Kerala is:

A) CFLTC. B) Covid Brigade.
C) Covid Akshaypatra. D) Covid Jagratha.

Which organisation released a report titled ‘Population projections for India and States 2011
2036’ ?

A) United Nations Population Fund. B) UNICEF.
C) National commission on population.D) World Economic Forum.

Which region of India is the most polluted in the country, as per the recent study by CPCB and IIT
Delhi?

A) Eastern Coastal plain. B) Indo-Gangetic plan.
C) C.Western Coastal plain. D) Southern India.

Atal Innovation Mission (AIM) has collaborated with which technology company to launch Student
Entrepreneurship Programme (SEP) 2.0 ?

A) Amazon. B) Google.
C) Dell Technologies. D) Cisco.
Who organises Aadi Mahotsav, a national-level tribal festival from 2017 ?
A) MPEDA. B) TRIFED.
C) NABARD. D) APEDA.
Which ministry launched “Sugamya Bharat App” for persons with disabilities ?
A) Ministry of Home Affairs.
B) Ministry of Social Justice and Empowerment.
C) Ministry of External Affairs.

D) Ministry of Women and Child Development.
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Supreme Court has made Right to Free Education as the part of which among the following
rights ?

A) Right to life and Personal Liberty.

B) Right against Exploitation.

C) Right to freedom of speech and expression.

D) Cultural and Educational Rights.
The Central Pollution Control Board (CPCB) has raised concern on pollution and frothing of which

river ?
A) Ganga. B) Yamuna.
C) Godavari D) Krishna.

Koyoto Protocol, an international treaty which extended the 1992 United Nations Framework
Convention is related to :

A) Medical ethics. B) Referendum.
C) International peace. D) Climate change.

Which of the following decides the Minimum Support Prices on behalf of the Government of
India ?

A) Cabinet Committee on Economic Affairs.
B) Ministry of Agriculture.
C) Agriculture Cost and Price Commission.
D) None of Them.
What is Sericulture ?
A) Rearing of silkworms. B) Rearing of honeybees.
C) Raising of trees. D) Rearing of cats.
Who is credited as the compiler of the Puranas ?
A) Adi Shankaracharya. B) Vyasa.
C) Valmiki. D) Lomaharshana.
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What is the name of initiative launched by'Union Ministry of HRD, to provide psychosocial support
to students for their Mental Health and Well-being ?

A) Swasthya. B) Manodarpan.
C) Suraj. D) Kiran.
The Transgender Persons (Protection of Rights) Act enacted in the year :
A) 2017. B) 2018.
C) 2019. D) 2020.

An Indian COVID-19 "contact tracing, syndromic mapping and self-assessment" digital service,
developed by the National Informatics Centre under the Ministry of Electronics and Information

Technology using which platform ?
A) e-Sanjeevani. B) Aarogya Raksha.
C) Aarogya Setu. D) Corona Kavach.
Jahan Vote, Wahan Vaccination’ campaign is an initiative of which institution ?
A) Election Commission of India. B) Government of Delhi.
C) Home Ministry. D) MPEDA.

Which Indian has been conferred with the Top 20 Global Women of Excellence Award for 2020 by
the US Congress ?

A) Tamilisai Soundararajan. B) Kiran Bedi
C) Anandhiben Patel. D) Najma Heptullah

The Presidential Years”, which was seen in the news recently, is the memoir of which Indian
President ?

A) Pratibha Patel. B) Pranab Mukheijee.
C) Ramnath Kovind. D) AP J Abdul Kalam.
Which among the following is the Disha helpline number in Kerala ?
A) 1056. B) 1091.
C) 1095. D) 1098.
Which Indian constitutional amendment has special importance to Urban local bodies ?
A) 49th. ‘ B) 73rd.
C) 74th. D) 99th.
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Which among the following is NOT an indicator of Human Development Index ?
A) Life expectancy. B) Education.
C) GNI Per capita. D) Gender Equity.
Who among the following is associated with Anti-humah Trafﬁcking ?
A) Maekaha Gandhi. B) Sunitha Krishnan.
C) .Medha Patkar. D) Kailash Satyarthi.
Who is the author of the bool; “The 7 Habits of Highly Effective People” ?
A) Shiv Khera. B) Stephen R. Covey.
C) Deepak Chopra. D) Chetan Bhagat.

Seats for Mathematics, Physics and Biology in a school are in the ratio 5 : 7 : 8. There is a proposal
to increase these seats by 40%, 50% and 75% respectively. What will be the ratio of increased
seats ?

A) 2:3:4. B) 6:7:8.
C) 6:8:9. D) None of these.

Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is increased by Rs. 4,000, the
new ratio becomes 40 : 57. What is Sumit's salary ?

A) Rs. 17,000. B) Rs. 20,000.
C) Rs. 25,500. D) Rs. 38, 000.

A and B together can complete a work in 3 days. They start together but after 2 days, B left the
work. If the work is completed after two more days, B alone could do the work in :

A) 5 days. B) 6 days.

C) 9 days. D) 10 days.
Find the distance between the points (3,2) and (6,6) :

A) 4. B) 5.

C) 6. D) 7.

Anish bought a second-hand mobile for Rs. 2,500, then spent Rs. 500 on its repair and sold it for
Rs. 3,300. What is his gain percent ?

A) 5. B) 7.
C) 9. D) 10. Turn over
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The inverse ratioof 5:4 :3is ?

A) 10:15:20. B) 12:15:16.
C) 20:15:12. D) 12:15:20.
al is equal to :
A) 0. B) 1
c) -1. D) a
Which of the following cannot be the probability of an event ?
A) 2/3. B) -15
C) 15% D) 0.7.

Present ages of x and y are in the ratio of 5 : 6 respectively. 7 years hence, this ratio becomes 6 : 7
respectively. What is x’s present age in the year ?

A) 33. B) 35.
C) 42. D) 49.

A man takes 6 hours 15 minutes in walking a distance and riding back to starting place. He could
walk both ways in 7 hours 45 minutes. The time taken by him to ride back both ways is :

A) 4 hours. B) 4 hours 30 minutes.
C) 4 hours 45 minutes. D) 5 hours.
The zero of the polynomial p(x) = 4x + 12 is :

A) 3. B) 4.
c) -3. D) -2.
The two coins are tossed simultaneously. The probability of getting at least one head is :
A) /4. B) 1/8.
C) 3A4. D) /8.

A sum was put at simple interest at a certain rate for 2 years. Had it been put at 1% higher rate,
it would have fetched Rs. 24 more. Find the sum : '

A) 2000. B) 1500.
C) 2400. D) 1200.

In a flower bed, there are 23 rose plants in the first row, 215t in the second, 19 in the third and so
on. There are 5 rose plants in the last row. How many rose are there in the flower bed ?

A) 10. B) 50.
C) 28. D) 20.
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A copper rod of a diameter 1 cm and length 8 cm is drawn into a wire of length 18 meter of uniform
thickness. Find the thickness of the wire :

A) 1/12 cm. B) 1/15.
C) 1/5cm. D) 1/14 cm.

A cylinder, a cone and a hemisphere are of equal base and have the same height. What is the ratio
of their volumes ?

A) 3:1:2. B) 3:2:1.
C) 1:2:3. D) 1:3:2.

If a girl of height 90 cm is walking away from the base of a land post ata speed of 1.2 meter per
second. If the lamp is 3.6 meter above the ground, find the length of her shadow after 4 seconds :

A) 13. B) 1.6.
C) 17 D) 1.8.

If the radii of two concentric circles are 4 cm and 5 cm, then find length of each chord of one circle
which is the tangent of other circle is ?

A) 6cm. B) 7cm.
C) 8cm. D) lcm.
The probability that a non-leap year selected at random will contain 53 Sunday is :
A) 1/17. B) 2/7.
C) 3/1. D) 4/7.

Which one of the following is not a prime number ?

A) 101. B) 118.

C) 118. D) 127.
The diameter of a circle whose area is equal to sum of the areas of the two circles of radii 40 cm and
9cmis

A) 41 cm. B) 82 cm.

C) 72 cm. D) 62 cm.

If the radius of a circle is doubled, its area becomes
A) 2times. B) 4times.

C) 8times. D) 16 times.
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If HCF of 55 and 99 is expressible in the form 55 m - 99, then the value ofm:
A) 4. B) 2.
C) 1L D) 3.
Look at this series : 80, 10, 70,'15, 60,... What number should come next ?
A) 20. B) 25.
C) 3o. D) 50.

10 coaches of a passenger train have got derailed and have blocked the railway track from both

ends. Courses of action :

1. The railway authorities should immediately send men and equipment and clear the

spot

II. All the trains running in both directions shou 1 be divertedimmediately via other

routes.
A) Ifonly I follows. B) Ifonly II follows.
C) Ifeither I or II follows. D) Ifbothl and II follow.

Anger is'energy, in a more proactive way and how to channelize it is in itself a skill.

Assumptions:
‘I. Anger need to be channelized.
II. Only skillful people can channelize anger to energy.
A) Ifonly assumption I is implicit. B) If oxliy assumption II is implicit
C) IfeitherIor IIis implicit. D) Ifneither I or II is implicit.
1-Ram is shorter than Sham and taller than Prem. Prem is taller than Rahul. Who is the tallest ?
A) Ram. B) Sham.
C) Prem. D) Rahul

Roshan’s mother has three children. One of them is called Chandy and the other is Sandy. What
is the third child called ?

A) Inadequate information to answer the question.
B) Peter.
C) Roshan.

D) None of the above.
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89. Sheela ranks 4P from the top and total number of students in the class are 35. Find the rank of
sheela from bottom.

A) 33. B) 32.
C) 31 D) 30.

90. Blueberries cost more than strawberries. Blueberries cost less than raspberries. Raspberries cost
more than strawberries and blueberries. If the first two statements are true, then the third
statement is :

A) True. B) False.
C) Uncertain. D) None of these.
(Descriptive questions Q 91 to Q§3 : Answer the questions in not less than 100 words)
91. The exploited Indian Girl Child: Who is responsible ?
92. Pro-life vs. Pro-choice: Should abortion be banned ?

93. A self-reliant India: Will it be agriculture or Industry ?



